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Chapter 6 Quiz Review
       Advanced Algebra
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[image: image1.emf]


x −1










x

-

1

 a factor of 
[image: image2.emf]


x3 − 2x2 − 5x + 6










x

3

-

2

x

2

-

5

x

+

6

?  Why or why not?


1.  _____________________
     SHOW WORK.
2.  Cydney wrote the formula 
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for the volume of a rectangular prism she is designing,  

     with width w.
     a.  Find the product and write the formula in standard form.

2a.  ____________________

     b.  Classify this polynomial by degree.




2b.  ____________________

     c.  Classify this polynomial by the number of terms.


2c.  ____________________

3.  The table shows the estimated number of deaths (in millions) in the United States.



	Year
	1960
	1970
	1980
	1990
	2000
	2003

	Deaths
	1.71
	1.92
	1.99
	2.15
	2.4
	2.42


      a.  Find a cubic function to model the data.  Let x = years after 1960.
3a.  ____________________

      b.  Estimate the deaths for the year 2014.




3b.  ____________________

4. Write 
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in factored form.




4.  _____________________

5.  Write a polynomial function with rational coefficients in standard form with the given zeros.

     a.  2, 3, 5








5a.  ____________________

     b.  -1, -1, 1








5b.  ____________________

6.  Find the zeros of 
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 and state the multiplicity.
6.  _____________________











________________________

7.  Use long division to divide the following:

     a.  
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7a.  ____________________

     b.  
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7b.  ____________________

     c.  
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7c.  ____________________

     d.  
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7d.  ____________________

8.  Use synthetic division to divide the following:

     a.  
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8a.  ____________________

     b.  
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8b.  ____________________

     c.  
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8c.  ____________________

     d.  
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8d.  ____________________

9.  Use synthetic division and the Remainder Theorem to find

9.  _____________________
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10.  Use your preferred division to show if 
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10.  ____________________
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and explain why it is or why it is not.  

       SHOW WORK.




ADDITIONAL REVIEW PROBLEMS BECAUSE MORE REVIEW ALWAYS HELPS:
For Questions 11 – 12, a) write each polynomial in standard form, b) classify it by degree, and 

c.  classify it by number of terms.










11.  
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11a.  ___________________











11b.  ___________________











11c.  ___________________

12.  
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12a.  ___________________











12b.  ___________________











12c.  ___________________

For Questions 13 – 14, for each function, determine the zeros and their multiplicity.
13.  
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13.  ____________________
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14.  
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14.  ____________________
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